@, T aden woih o
UG+

National Testing Agency

CUET PG

Previous Yedr Question Paper

2022

Journalism
&
Mass Communication

Join Kerala's No.1 PG Entrance Coaching
Download the Prepwise UG Plus App Now!

Call or WhatsApp
91+ 7994441041

i GETITOM L Download an the
* Google Play ¢ App Store




|App|ication No. : 223510199964

|Candidate Name : SANOOP SURESH M V

[Roll No. : KL15000043

‘Test Date : 04 sep 2022 Test Slot : 2

|Subject : Mass Communication and Journalism (PGQP41)

Sl. No.1
QBID:1007176

Choose the correct form of verb to fill in the blank.

The price of oranges rising in the market.
(1) are (2) Thave
(3 is (4) had

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.2
QBID:1007177

From among the four options given. choose the most appropriate sequence for the four
phrases given below to make a meaningful sentence :

(A) wages were going to be cut and
(B) the workers were up in
(C) decided to go on strike

(D) arms when they heard that their

Choose the correct answer from the options given below:

(1) (D). (A).(C). (B
(2) (B). (D). (A4). (C)
(3) (C). (B). (D). (A)
(4) (A), (C). (B). (D)
(A)
(B)
(C)

(D) 4
Answer Given by Candidate : B

W N =

Sl. No.3
QBID:1007178




Which two of the following words take ‘rregular’ verb forms?

(A) begin
(B) defy
(C) manage

(D) bite

Choose the correct answer from the options given below:

(1) {A) and (D) only
(2) {A) and (B) only
(3) (B) and (C) only
(4) (B) and (D) only
(A)
(B)
©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.4
QBID:1007179

Match List I with List I :

ListI List IT
(word) (synonym)
(A} accolades (' show
(B) desultory (ITI) honour
(C) evince (ITII) guess
(D) surmise (IV) aimless

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(IIL). (C)-(IL). (Dy-(I)
(2) (A)-(I). (B)-(II). (C)~(III). (D)y-(IV)
(3) (A)-(IT), (B)-(IV), (C)-(T), (D)-(IIT)
(4) (A)-(IID). (B)-(I). (C)-(IV). (D)-(ID)

A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.5
QBID:1007180

Pick out the correctly spelt word.

(1) twelth (2) twelfthe
(3 twelfth (4) towelfth

(A) 1




(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C

Sl. No.6
QBID:1007181

“The peace talks between the Russia and Ukraine ended in a stalemate.”

From the following options pick the correct synonym of the word in italics.
(1) Agreement (2)  Dilemma

(3) Impasse (4) Disagreement

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.7
QBID:1007182

Identify the correct direct speech of the following sentence.

Arshil said that he was very busy then.

(1) Arshil said. "He 1z very busy now.”
(2) Arshil told. “T am very busy now.”
(3) Arshil said, “You are very busy now.”
(4) Arshil said. “T am very busy now.”
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.8
QBID:1007183

Which of the following is a one-word substitute for 'a person who 1s unsure about God's

existence™?

(1) Renegade
(2) Atheist
(3) Irreligious
(4) Agnostic
(A) 1
(B) 2
(Cc) 3

(D) 4
Answer Given by Candidate : D

Sl. No.9
QBID:1007184




Choose the correct passive voice of the following sentence.

I was waiting for the minister.

(1) The minister was being waited for by me.
(2) The minister was waited by me.
(3) The minister was waiting for me.
(4) The minister had been waiting.
(A) 1
(B) 2
) 3
(D) 4
Answer Given by Candidate : B
Sl. No.10

QBID:1007185

Fill up the blank with the correct form of verb.

Neither food nor water available there,

(1) were

(2) will not be

(3) was

(4) have being
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.11
QBID:1007186

The notification declaring the minerity communities / groups 1s done by :

(1) The Parliament
{(2) The State Governments
(3) The Central Government

(4) Concurrently by State and Central Governments

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.12
QBID:1007187




The first image of a black hole captured bv Event Horizon Telescope (ETH) has been named
as:

(1) Stephen Hawking BH*AB (2)y SYr*A

(3)  Messier 87 (4) Eienstien Galaxy BH*88

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.13
QBID:1007188

The dance form which uses Jayadeva's Gita Govinda in an extensive manner is called :

(D Kuchipudi (2) Chau
(3 Manipuri (4) Odissi

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.14
QBID:1007189

The celebration of National Press Day on November 16 in India was started by :

(1) Prezss Council of India

(2) Ministry of Information and Broadcasting
(3) United Nations

(4) National Press Club

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.15
QBID:1007190

Shyam Benegal's Committee was set up in 2016 for :

(1) clearing the backlog of films for certification
(2) regulating the adult films
(3) develop a strategyv for promotion of children’s films

(4) laying down rules for film certification

(A)
(B)
(©)
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.16




QBID:1007191

If South - East becomes North - West then what will South - West become?

(1) North - West (2) South
(3) North (4) North - East

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : A

Sl. No.17
QBID:1007192

In the question below statement and assumptions are given. Consider the statement and
chooze the correct option from the following on the basis of the assumptions.
Statement :

Area welfare society requested the local administration to allow them for converting vacant
land into vehicle parking area at their own cost.

Assumptions :
(1) The local authorities shall be happy to give permission.
(11) The welfare society zhall be able to collect funds to convert the land into vehicle

parking area.

(1) Only (1) is implicit

(2) Only (i1) is implieit

(3) Both (1) and (11) are implicit

(4) Neither (1) nor (11) 1s implicit
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : B

Sl. No.18
QBID:1007193




Question below consists of a statement and two arguments. Decide which argument is strong

and which is a weak argument.

Statement :

Should ban on hunting of tigers in forests be lifted?

Arguments :

Yes. the ban 1z not effective as tigers are still being killed.

No, the tigers will start roaming in the city.

(1) Only (1) is strong argument.

(2 Only (11) is strong argument.

(3) Neither (1) nor (i) are strong arguments.

{4) Both (1) and (11) are strong arguments.
(A)
(B)
©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.19
QBID:1007194

Select a suitable figure from the answer.

Figures that would replace the question mark (?).

Problem Figures : Answer Figures :

ORI PP IP

(A) (B) (C) (D) (1) (2) (3) 4)

(1) 1 (2)
(3) 3 4 4

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.20
QBID:1007195

Pointing towards Marv. John said ‘Only daughter of Father-in-law of her brother's mother 1s
my wife’. How 1z John related to Mary?

(1) Brother (2) TUncle

(3) Father (4) Data Insufficient
(A) 1

(B) 2

(©) 3




(D) 4
Answer Given by Candidate : B

Sl. No.21
QBID:1007196

A shop stores x kg of rice. The first customer buys half thiz amount plus half a kg of rice. The
second customer buys half the remaining amount plus half a kg of rice. Then the third
customer also buys half the remaining amount plus half a kg of rice. Thereafter. no rice 1z left

in the shop. Which of the following best describes the value of x?

(1)

[
1M
(Fa

x<6 (2) bH<x<8

(3) 9

1M

x<12 4) 1l=x=<14

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.22
QBID:1007197

There are two circles of different radius such that radius of the smaller circle 1s two-fifth that
of the larger circle. A square whose area equals 5184 sq cm has 1ts side as thrice the radius of

the larger circle. What 1s the circumference of the smaller circle?

(1) 65.25 cm (2) 60.34 cm
(3) 49.534 cm (4) 5H4.23cm

(A)
(B)
©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.23
QBID:1007198

Ramesh purchased a house worth Rs. 10.00.000 and Amrita purchased a car worth Rs.
16.00.000. The value of house every vear increases by 20% of the previcus value and the value
of car depreciates every yvear by 25%. What is the difference between the price of house and
car after 3 vears?

(1) 10.63.000 (2) 10.53.000
(3) 10.43.000 {4y 11.53.000

(A)
(B)
©)
(D) 4
Answer Given by Candidate : B

W N =

Sl. No.24
QBID:1007199




Vivek had %. 23.000. He invested some amount in scheme A at SI at 20% and the remaining
amount in scheme B at CI at 10%. If Vivek got the same amount from both of them at the end
of one vear. how much (in %) did he invest in acheme B?

(1) %, 12.000 (2) = 13.000
(3) % 11.800 (4) = 12.500

(A)
(B)
©)
(D) 4
Answer Given by Candidate : C

W N =

Sl. No.25
QBID:1007200

Peter marks up all Jeans in his shop 20% higher. He gave 25% discount on 2/5™ of the total
Jeans and 12% discount on 1/4™ of the total Jeans. If Peter gets an overall profit of 2.5%. then
what percentage of discount should be given by Peter to customers on the remaining Jeans?

() 10% 2y 2%
(3) 3% 4y 5%

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.26
QBID:1044001

What does PTI stand for?

(N Pioneer Trust of India
(2) Press Technology Institute
(3) Press Trust of India
(4) Pioneer Technology Industry
(A) 1
(B) 2
c) 3
(D) 4

AIETE H QA AH B ?

(1) qrEfAa gFe 3% $Ear
) U SHldlSl SEeIEde
3) e g¥e 3w gfEar

) I SFAEr $5T

(A)
(B)
©)
(D) 4
Answer Given by Candidate : C

W N =

Sl. No.27
QBID:1044002




Which Article of the Indian Constitution guarantees the freedom of speech and
expression?

(N Article 19(1)
(2) Article 19(2)
(3) Article 18(1)
(4) Article 18(2)

(A) 1

(B) 2

) 3

(D) 4

AR SRue & Fla-ar sese smor it sfReafEa f wdar &
AREY &aT § 2
(1) FeqTae 19(1)
(2) FeeE 19(2)
) o 18(1)
(4) HATE 18(2)
(A) 1
(B) 2
) 3

(D) 4
Answer Given by Candidate : A

Sl. No.28
QBID:1044003

What 1s the Editor’s Guild of India ?

(1) An association for protection of senior journalists.
(2) An association that stands for the freedom of the press.
(3) An association that advises the government on defence matters.
(4) An association that protects the rights of civilians.
(A) 1
(B) 2
(© 3
(D) 4
f2ed fies 3w sRar w7 &
(0 aiss TIRRI H GET & fov vh F@u
2 T H Sl SE $T FaAIAT F GETER @I ¢
(3) TF HY S @ AAG W TER F TAE ol &
) T HY S AR & FOFRT H T Far §
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : B
Sl. No.29

QBID:1044004




Feedback is possible in which type of communication?

(1) Vertical
(2) Circular
(3) One-way
4 Authoritarian
(A) 1
(B) 2
(c) 3
(D) 4
O F w7 afagfe d@wa ¢ o
() Feafty
(2) AR
(3) Tehc BT
(4) HiOHREEY
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.30
QBID:1044005

Which of the following 1s mof a characteristic of communication?

(1) It is participatory
(2) It is a two-way flow
(3) It guarantees equality
(4) It requires expression
(A) 1
(B) 2
(Cc) 3
(D) 4

e & 3 siah gar Hr Rvaradie 2
(1) TE HeHnl &

@ Tg EIRW vaE

() g TATAAT T ARE & §

(4) =0 fHcafea i saegsar &

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : B

SlI. No.31
QBID:1044006




Which of the following 1s mof a real function of mass media?

(1) Corporate business
(2) Empowerment
(3 Awareness
(4) Information

(A) 1

(B) 2

(c) 3

(D) 4

ffaf@a # ¥ +i9 ¥ 719 Afzar F1 aaes FIags
(1) FIANE AITTT

(2) gafEasor
(3) SRR AT
(4) RN
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.32

QBID:1044007

What do you mean by kinesics?

(1) Unfocused interactions
(2) Body language
(3) Paralanguage
4) Spatial communication
(A) 1
(B) 2
() 3
(D) 4

FSATAFH T HIT Fa1 @A & 7

(1 y-Ffga araa

(2) FHITAH ST

(3) ST H HOR & HES dcd
“) A §9rx

A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : B

Sl. No.33
QBID:1044008




PTI, UNI, AFP and AP are all :

(1) News commissions
(2) Media corporates
(3 News agencies
(4) Media financing bodies
(A) 1
(B) 2
(c) 3
(D) 4

drErame. gua e, vk AT oot el Far 2
(1) THTEN HTAET
(2) Mz FIReT
(3) AR A=adr
(4) iz Feaayor @

(A)
(B)
©)
(D) 4
Answer Given by Candidate : C

W N =

Sl. No.34
QBID:1044009

Which of the following is the highest award in Indian Cinema ?

(1) Tagore Samman
(2) Indian Films Academy Award
(3) Satyajit Ray Rashtriya Puraskar
(4) Dadasaheb Phalke Award

(A) 1

(B) 2

(c) 3

(D) 4

ﬁmﬁﬁaﬁ#m-mmﬁmﬁmwﬁ?
(1) ST FFATT

2 HRCT fihed el RER

(3) Hﬁﬁhﬂiﬂﬁﬁﬂgﬁw

(4) mqﬂﬁgﬁw

(A
(B)
(©)

(D) 4
Answer Given by Candidate : D

W N =

Sl. No.35
QBID:1044010




What are puppetry, Ramlila, street theatre and tamasha forms of?

(N Folk media
(2) Rural media
(3) Mass media
(4) Ancient media
(A) 1
(B) 2
©) 3
(D) 4
FEYel, THIS, AFhs Alch R TART +41 § 2

(D o #ifzar
(2) AT FAfzar
(3) FT - §aR HifEar
(4) arieT FAifzar
(A) 1
(B) 2
) 3

(D) 4
Answer Given by Candidate : A

Sl. No.36
QBID:1044011

Mass media audiences are

(1) Identifiable
(2) Anonymous
E))] Specific Strata
(4) Concentrated

(A) 1

(B) 2

(€c) 3

(D) 4

A Az & fow g §
() qEuEET
(2) A
3) faftre gvaw
(4) Fea

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.37
QBID:1044012




Which of the following is a recent phenomenon of modern day media in India ?

(1) Film news
(2) Paid news
(3) Sports news
(4) Featured news
(A) 1
(B) 2
(c) 3
(D) 4
frfofaa & & sia & 0T % sryfas SaEIR ArcgAr i aiwer § 2
(1) fires ==
(2) s =
3) e 7
@ e s
o,
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : B
Sl. No.38

QBID:1044013

In which of the following are the expectations of the people being manipulated to the
maximum?

(1) Instructional situation
(2) Agitative situation
(3 Persuasive situation
(4) Personal situation

(A) 1

(B) 2

(c) 3

(D) 4

=afEe & o rad st £ et # sfosaw g &Far sarg
(1) éarcas Tufa
(2) HrereTwr 2ufe
(3) ferearatcaes fRufa
(4) g Tfa
(A) 1
(B) 2
) 3

(D) 4
Answer Given by Candidate : B

Sl. No.39
QBID:1044014




Which of the following has a long term effect on the audience?

(1) Regular face-to-face interactions
(2) Listening to a radio jingle
(3) Reading a book
(4) Watching a movie
(A) 1
(B) 2
(c) 3
(D) 4

faf@a & & Saer srags! RTd) W ddifos 98d 9351 § ?
(1 GRIGGERIGEE: L IEIG]
(2) w YEEr Shrer geem
(3) IEGIERCGI
4) her 2@
(A)
(B)
(©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.40
QBID:1044015

Which of the following cannot be a part of media studies?

(N Psychological effects
(2) Physiological effects
(3) Cultural effects
(4) Sociological effects
(A) 1
(B) 2
(c) 3
(D) 4

Aafafaa & ¥ Fiaar Az sregga #1 fraragia gwar g 2
(1) TAT AT TS

(2) AITF T

(3) HiEFfa® ToT

(4) HATAATET FAT

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.41
QBID:1044016




What does SITE stand for?

(1) Satellite Instructional Technology Experiment
(2) Synchronous Integrated Technology Experiment
3 Satellite Instructional Television Experiment
{4) Synchronous Integrated Television Experiment

(A) 1

(B) 2

(c) 3

(D) 4

SITERY aATH FT § 2

(1) Heomse S=rgad AT TFEfET
(2) = $eafes eoamarst TeaiiEe
(3) HeoTse TECRIAd Solllasid TFEIHAT
) =g gafes Telifeee vFaafeie

(D) 4
Answer Given by Candidate : A

Sl. No.42
QBID:1044017

Which of the following is included in media and information literacy?

(1) Audience accountability
(2) Corporate credibility
(3) Audience psychography
(4) Media analysis

(A) 1

(B) 2

(c) 3

(D) 4

A=t & & Hl-ar AEFar iR guar warar & aifde g 2
(1 e T FarEcEr

2) FRAYE A Feaweaar

(3) Mg A=Alga

4 Hfzar Gecmor

1
(B) 2
3

(D) 4
Answer Given by Candidate : B

Sl. No.43
QBID:1044018




Which of the followings unaffected by media directly ?

(1) Literacy rate

(2} Consumerism

(3) Desensitisation

(4 Buyers behaviour

(A) 1

(B) 2

(c) 3

(D) 4

ffafaa & ¥ Fia-gr @ at W Aizwr @ smanfaa 20
(1) HIETT &

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.44
QBID:1044019

Which of the following statements is an incorrect description of media?

(1) Media is an agent of social change
(2) Media 1s a magic multiplier
(3) Media 1s an influencer
(4) Media affects culture
(A) 1
(B) 2
(©) 3
(D) 4

feeafofaa 7 9 Fia-ar Faa AFar # wer Fewragiy
(1) Az gfes REag FT o e &

(2) mwﬁwg

(3) HifZar U gHEeer §

(4) Hfear "l T IH1ad FLam &

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.45
QBID:1044020




Which of the following can bring about maximum development in a society?

(1) Urbanisation

(2) Greater consumption
(3) People’s participation
4) Westernisation

(A) 1

(B) 2

(©) 3

(D) 4

fFafofa 7 9 i or ey oA § 3+an RFm ar gFar g °
(1) ELHTOT

(2) e ITamET

(3) a1 ArEier

(4) gfesoT

(A)
(B)
©)
(D) 4

Answer Given by Candidate : C

W N =

Sl. No.46
QBID:1044021

Which of the following is not a feature of social media?

(1) Interactivity
(2) Photo sharing
(3) Video sharing
4) Web senes

(A) 1

(B) 2

(c) 3

(D) 4

Fafaf@a & & Fia-ar g #ifzar & fdwaradd 2
(1) FeOtafshar

(2) HIET | AT

(3) AT wrsm FEw

(4) CERES

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : D

Sl. No.47
QBID:1044022




In information communication, what does UGC stand for?

(1) User Generated Content
(2) Unique Grammar Code
(3) Umicode Generated Content
(4) Unique Genome Code

(A) 1

(B) 2

(c) 3

(D) 4

o= HER H UGC &7 I ATH F71 ¢ 2
(1) T LS Feeed
) T+ T FE
(3) IfA$Is AT Feeee
4 e A Frs
(A)
(B)
©

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.48
QBID:1044023

Which of the following 1s an example of Social Networking sites?

() Instagram
(2) Google Pay
(3) Google Maps
(4) News sites

(A) 1

(B) 2

(©) 3

(D) 4

A # & Fla-ar @rere AcafEr aged #1 v IS § 2
(1 SECHANHA
(2) T
3) UCE CIES
) FAMR AECH
(a)
(B)
(©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.49
QBID:1044024




Which of the following is mot a cryptocurrency?

(1) Bitcoin
(2) Dodgecoin
(3) Parthenium
(4) Ethereum
(A) 1
(B) 2
() 3
(D) 4

= 7 ¥ =9 v rasiiadie o
(1) [EECIEC)

2) Stemiea
() qrffEas
(4) AR
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.50

QBID:1044025

Which of the following 1s not a part of visual cultural studies?

(N Photo
(2) Film
(3 Graphics
(4) Text

(A) 1

(B) 2

(Cc) 3

(D) 4

fa=fof@a & ¥ Fia 81 797 giepias euas &7 fgrarag ¢ 2
(1) EEI

(2) e
(3) TR
(4) EIry
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D
Sl. No.51

QBID:1044026




What 1s NATO?

(1) An intergovernmental diplomatic alliance
(2) An intergovernmental military alliance
(3) An intergovernmental war treaty
(4) An intergovernmental oil sharing alliance
(A) 1
(B) 2
(©) 3
(D) 4
NATO =1 § ?
(1) T FI-OiFNT TAda% 589
(2) UF H-EERT B TS
(3) UF Ha-HIEHRT € |
(4) UF HA-HIHN I HET FI T6l TSa9
(A) 1
(B) 2
(©) 3
(D) 4
Answer Given by Candidate : B
Sl. No.52
QBID:1044027
What do Vishakha Guidelines focus on?
(N Sexual harassment at workplace
(2) Gender sensitivity at public places
(3) LGBTQ rights
(4) Equal wages for women
(A) 1
(B) 2
(©) 3
(D) 4

remar feanfeder g W Sea € 2

(1)
(2)
(3)
(4)
(A) 1
(B) 2
©) 3
(D) 4

FTUS 9T Il 3efEd

TESAT® TAH T A FagaAfierar
Te ST AT & g HUER
Afgonat F o @A 397

Answer Given by Candidate : A

Sl. No.53
QBID:1044028




Which of the following is met a country’s development indicator?

(1)
(2)
(3)
(4)
(A)
(B)
(©)
(D)

A W N =

Gross Domestic Product

Human Development Index
Maternal and Child Health Index
Physical Quality of Life Index

fArfaf@a # @ Fla dur &1 TFw gdasadt § 2
(M

(A)
(B)
©)
(D)

W N =

a4

Fehel BT 391G
Shraet 1 $ifc oTaEr FaHH

Answer Given by Candidate : A

Sl. No.54

QBID:1044029

Which country 1s Greta Thunberg a national of?
(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

A W N =

Switzerland
Sweden
Finland

Australia

FeT A & 2w Fr A § 0

(1)
(2)
(3)
(4)
(A)
(B)

©)
(D)

W N =

a4

Answer Given by Candidate : B

Sl. No.55

QBID:1044030




The rights of LGBTQ communities are given under which article of the Indian
Constitution?

(1) Article 370
(2) Article 144
(3 Article 145
(4) Article 377

(A) 1

(B) 2

(c) 3

(D) 4

LGBTQ FHer™l & R #Rg Ffaw= & fFa 3fe=de & ded for 7w
5

(1) HATSE 370

2 0T 144

(3) Heg 145

) 3G 377
(a)
(B)
(©)

(D) 4
Answer Given by Candidate : B

W N =

Sl. No.56
QBID:1044031

In which year was the National Human Rights Commission established?

(1) 1948
(2) 1993
(3) 1996
(4) 1949
(A) 1
(B) 2
() 3
(D) 4
[CET ATAGIESR e Hr Fargar e af $r 75 & 2
(1) 1948
(2) 1993
(3) 1996
(4) 1949
A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.57

QBID:1044032




Which of the following personalities is an environmental crusader?

(1) Anna Hazare
(2) Nihal Singh
(3) Sundarlal Bahuguna
(4) Kailash Sathyarthi
(A) 1
(B) 2
(c) 3
(D) 4

@ # ¥ +i9-9r cafedes maaig aEr & 2

(1) Heal g
(2) fergTer T
(3) e ofel TgIom
(4) Srerer gearAt
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : C

Sl. No.58
QBID:1044033

Pick the odd one out :

() Community media
(2) Altemnative media
3 Participatory media
4 Legacy media

(A) 1

(B) 2

© 3

(D) 4
fws & gfav

() H@?ﬁ% Afzar
(2) dsfoas Mz
(3) weamah Afzar
4) raa Afzar
(A)
(B)
(C)

(D) 4
Answer Given by Candidate : D

W N =

Sl. No.59
QBID:1044034




Which of the following cannot be an advertising appeal?

(N Crime
(2) Logic or reason
(3) Emotion
(4) Credibility
(A) 1
(B) 2
(c) 3
(D) 4

feemfofaa & ¥ sia @ s sfieagdt & gar & 2
(1) YT

(2) % IT HROT

(3) ATIAT

(4) TrE (Freawiaan

(A)
(B)
©)
(D) 4
Answer Given by Candidate : A

W N =

Sl. No.60
QBID:1044035

Which of the following does a brand represent?

A. Identity
B. Value
C. Price Elasticity
D. Trust
E. Class
Choose the correct answer from the options given below :
(1) Only A, B, C
(2) Only A,B.D, E
(3) Only B, C.E
4) Only C,D,E
(A) 1
(B) 2
() 3
(D) 4




% FiE fAeafofaa & ¥ ferger gfafafies swar g 2
A UgETH

B. #gcd

C. Hed H =T

D. faeam

E. T3t

e T 71T et & @ WEl 3cal T I994 AT

(1) *del A.B.C
(2) 94 A.B.D.E
(3) Fad B.C.E
(4) F9d C.D.E
(A) 1
(B) 2
(C) 3

(D) 4
Answer Given by Candidate : B

Sl. No.61
QBID:1044036

Which of the following factors is unsuitable for getting insights on mass audiences?

(1) Demographic
(2) Geographic
(3) Genetic
(4) Psychographic
(A) 1
(B) 2
(©) 3
(D) 4

Frfaf@a #& @ sla-ar e 93 Y . magst i daEfe gea =
& fav sugwFa afie

(1) ST

(2) sitnfeas

(3) FaeE

(4) AR et
(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : C

Sl. No.62
QBID:1044037




What is target audience studied as a part of?

(1) Production
(2) Editing
(3) Promotion
(4) Research
(A) 1
(B) 2
() 3
(D) 4

wfeId it T 3egaT Fas U 99T F w7 H Ry Fmar § 2
(1) LG

2) U

3) gl

(4) giter

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : C

Sl. No.63
QBID:1044038

Which of the following is the best reason for holding a press conference?

(1) For making an important announcement
(2) To create a campaign strategy
(3) To highlight the recent issues in society
(4) For making off-the-record statements
(A) 1
(B) 2
(©) 3
(D) 4

o Fnhd AT =S ST g9Y 3Eor FHoT A # 9 Slaar g
(0 TF HAgeaqur GoT F & AT

(2) T e e F [T

(3) WA A g F Aegl W 9N e & e

(4) 3 h-g-=rs g & & v

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.64
QBID:1044039




Who 15 the current President of Ukraine?

(n Vladimir Putin
(2) Volodymyr Zelensky
(3 Vladimir Gurevich
(4) Volodymyr Gorbachev
(A) 1
(B) 2
(c) 3
(D) 4

ool & daAl g i § 2
(1) sanfeAR gfa=

3

@ aEReER e
() R R
@ AR ARERE

(A)
(B)
©)
(D) 4

Answer Given by Candidate : B

W N =

Sl. No.65
QBID:1044040

How many countries are members of NATO?
(1) 32
(2) 33
(3) 30
(4) 27

(A)
(B)
(©)
(D)

fFaer 2or NATO F TeET & °
(1) 32
(2) 33
(3) 30
(4) 34

A W N =

(A)
(B)
(©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.66
QBID:1044041




What is the ranking of India in Human Development Index?

(1) 145
2) 138
(3) 148
) 131

(A) 1

(B) 2

(C) 3

(D) 4

Ad G FEd 7 AR @ ehr w4 § 2

(1) 145
(2) 138
(3) 148
) 131

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : D

Sl. No.67
QBID:1044042

Which of the following is net a tax?

(1) Insurance duty
(2) Excise duty
(3) Corporate tax
(4) Personal Income Tax
(A) 1
(B) 2
© 3
(D) 4
TR # g Fig ar v a8 & 0
(1) AT AoF
@ e aeE
3) IGEUCGEETY
(4) SAFAIT HTHT
(A) 1
(B) 2
© 3
(D) 4
Answer Given by Candidate : A
Sl. No.68

QBID:1044043




Which of the following was India’s first electric car?

(N Mahindra Reva
(2) Tata Nano EV
(3) Toyota Lexus
{4) Volkswagen ID Buzz EV
(A) 1
(B) 2
(©) 3
(D) 4

@ # ¥ siladr arg $r 9ger sofees F A 2
O ARE
(2) greT A4t £4r
(3) ZIaTer oFEHE
(4) IFENT FEHTIES
(A) 1
(B) 2
(C) 3

(D) 4
Answer Given by Candidate : D

Sl. No.69
QBID:1044044

The Government has proposed a directive to seek records of Virtual Private Network
(VPN) users as it can lead to

(1) Cyber frauds
(2) Documenting data
(3) Controlled access
(4) Economic revenues
(A) 1
(B) 2
© 3
(D) 4

TIHFR A TUHT TSaC Hdeaw () F suaeshars & e oog &
F T v Ry F1 yraE R § Fite sEw

(D HIga ISt @1 6l €

(2) 2CT STATIATRIUT &1 Tohal &

(3) forafa 9= grawdr &

(4) HTTF TET A HFHAT &

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.70
QBID:1044045




(1)
(2)
(3)
(4)
(A)
(B)
(©)
(D)

A W N =

(1)

(4)

(A) 1
(B) 2
(c) 3
(D) 4

Bombay Stock Exchange (BSE) and National Stock Exchange (NSE) help the

companies in

Listing themselves
Reporting their earnings
Publishing their annual reports

Allotment of sectors in which they want to operate

diFa Wi tFEYS (A THE) T FaAT WIS TFES (U U HE) FIiA4r
Fr Fg 7 AEg I B2

TS FT S FIAT

3AFT 3qfea T Fr W Far

3T FINF RAe TS T

HFell T Hged STH T FTH FT 98 &

Answer Given by Candidate : A

(1
(2)
(3)
)

(A) 1
(B) 2
©) 3
(D) 4

(1)

(A) 1
(B) 2
) 3
(D) 4

Sl. No.71
QBID:1044046

Which of the following is a public sector enterprise?

BPCL

RIL

Ranbaxy
Bharat Biotech

F=fofEe # @ 9 geaEs sy T 3@m £ 2

<7 o J1 Tt
HT S TA
feCEad)
N TS

Answer Given by Candidate : A

Sl. No.72
QBID:1044047




Which of the following four North-Eastern States is a reason for the rift between India
and China for long?

() Meghalaya
(2) Arunachal Pradesh
(3) Sikkim
4) Nagaland
(A) 1
(B) 2
() 3
(D) 4

e 4 8 B 9r soadt asat & 9 o HT 8 SR $
e faare o w18 2

(1) Aureg
(2) HEUTTTA Heem
(3) afEwa
4) ArETUs
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.73

QBID:1044048

Which of the following is the Southern most tip of India?

(1) Kanyakumari
(2) Thiruvananthapuram
(3) Malpe
(4) Indira Point
(A) 1
(B) 2
(c) 3
(D) 4

fFrfaf@d & @ Fla-ar Tue 9Ra # gfeoras &g § 2
(1 FeOTHHANT
(2) IGEEGE ETe:]
(3) e
(4) gfeqr wEe
(A) 1
(B) 2
©) 3

(D) 4
Answer Given by Candidate : D

Sl. No.74
QBID:1044049




The 26" Conference of United Nations Climate Change Conference of Parties,
(CoP26) recently concluded in Glasgow. Which of the following are correct with
respect to the outcomes of CoP267

A The world leaders decided to act to limit temperature rise.
B To accelerate action towards goals of Paris Agreement.
C. To work with local bodies to bring social change.

D. To create awareness about environmental issues globally.
Choose the correct answer from the options given below :

(1) Only Aand B

(2) Only B and C

(3) Only C and D

4) Only A and D
(A) 1
(B) 2
© 3
(D) 4

HIFT g FAag TR aifedl (CoP26) FT 2637 HFA gl & H

TARTT & WA 3T | CoP26 F INUMAT % Ty & fawafaf@a & d Fia-

T TEr &2

A. foreg Aarst & awEE 3 FF OfFT F= F BT FF == =7
faorr B |

B. T wasla ¥ aeat f G & 3 § Fars w140 |

d aAfes aftads o= F fOr rashy et & grr 17 w3 |

D. foreg TaX N TATROT F HET F X H FARTEHAT 9T FIT |

AT T 1T ket # @ WA Feaw T wHA PAC -

(1) Faa AT B
(2) Fao BT C
(3) FaaT CHRT D
(4) FaoT AFR D

(A)
(B)
©)
(D) 4
Answer Given by Candidate : A

W N =

Sl. No.75
QBID:1044050




The Government in India is unlikely to allow a booster shot that is different from the
primary Covid-19 vaccine. Reasons are :

A
B.

e
D.

Mixing Covishield and Covaxin did not yield encouraging results.

If the booster is the same as the first two doses, the immunity is boosted
better.

It is cheaper to use the same vaccine as booster.

The constant shortage of one vaccine will not allow uniform administering
on a large population.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(A)
(B)
©
(D)

A W N =

Only A and C
Only Band C
Only A and D
Only A and B

AT THR GanT TrIfAs Hifas-19 &l & rerr qeex Afe &
Al & &y damraer gt & | FROT

A

Ffaeies I FAfFEa FF Ao T scagaas aiiond 73g7
Bl |

e gFeX dpell &1 TUH & FAE £, dr et i dge’ i
H FSHT ST § |

T F AW AT F TR FET TETE

TF &k F TR FA F 99 HEEr W U FA SR A
$r JegAfer e S |

A Br v Bwent & & 98 391 F1 9949 AifSw

(1)

(©)
(D)

1
2
3

4

Faer A3 C
#Faa B3R C
Faor AR D
Faor AR B

Answer Given by Candidate : D

Sl. No.76

QBID:1044051




Internet companies like Facebook and Netflix are facing a growth lull due to

Global competition.
A considerable global population is not online.
Internet connections are not consistent and fast.

O 0w

world.
Choose the correct answer from the options given below :

(1) Only A and B
) A.B.CandD
(3) Only B and C
(4) OnlyB. Cand D

(A) 1

(B) 2

(c) 3

(D) 4

These companies have reached their saturation points in the developed

g R Aciosa Sl getee Fufaar fFas FRUT geftr Hr w4 Fr

FHAT F W E 2

A. faarala afaarf@ar |

B. g T W i &REs IEE) siacrsa a8 & |

C. $EAT FelTUed FHIT 3 A 7L E |

D. ¥ Fuferar B gferr # 3 Jafta g @ 9T 7% € |
A BT v el # & F@er I & 949 HISw

(h Faod AR B

) A,B,C,D

(3) Fad B3R C

(4) Fad B,C3IR D

(A)
(B)
(©)

(D) 4
Answer Given by Candidate : B

W N =

Sl. No.77
QBID:1044052




Digital skills such as cloud computing. artificial intelligence and big data are in top
demand. In view of this statement, which of the following are correct ?

A. Indian IT companies are looking at creating a different set of skills.
B. Digital tech talent is growing more as compared to core IT.
344 The attrition levels in IT companies are high.
D. The active workforee in other sectors is reducing.
Choose the correct answer from the options given below :
(1) Ounly A and B
(2) Only B and C
(3 Ounly C and D
(4) Only A and D
(A) 1
(B) 2
(C) 3
(D) 4

F1 TIH ST AW § | W FIS F I F @ g wmfaiwa A @

FIT-TT TWET & 2

A WA 3ME &7 FITAT FIT FT UF J9T B T 9T =97 FT
WrE |

B. fEfoee awelier afasr #1X amE & i Joom & 3w @ B

C. W FAAAT F viesd T 3= £ |

D. T SN FFT FATT FHF A W T |

e T v et § ¥ TEr Seaw W 994 ST

(1) Faa AFRT B
(2) Hga BN C
(3) Faa C 3’ D
4 Fad AR D

A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A

Sl. No.78
QBID:1044053




Due to inereasing cybercrimes. organisations now need to work towards building a
robust eyber security infrastructure to tackle any potential security threat.

In the light of this statement. which of the following are correct ?

Al
B.

C.
D.

Investment should be made in strong cloud security measures.

As remote operations continue in post-pandemic era, it is impossible to
avoid damage.

The “go digital” push is not a great idea in such times.

One does not have to be defenceless in the face of cyber attacks.

Choose the most appropriate answer from the options given below :

(1)
(2)
3)
4)

(A)
(B)
(©)
(D)

A W N =

Ounly A and D
Only B and C
Ounly C and D
Only A and D

ded ABE LT F FROT, WAl H Ha fHer o wsniaa gean @y
¥ e & v v A Aigel gea giAaer e & fAatr fr gar
H FH 4 T WEWHAT § 130 99 & 3o A FmtfEa a a
leA-A1 TWET & ?

A,
B.

Ao FoA135 YT 3t & fder frar s afRe |

9fF AR & ag F g # gy waee AR ¢ satee ety &
9T HEHT § |

T8 AT § o RfSed’ uF wor @R A8 ¥

S gHell FI AHAT Fial & U ey 7 @ @ &
3TERAHT 761 ¢ |

A U 7T Aehedl # § @98 39gF I H I HIGC ¢

(1)

(A)
(B)
©)
(D) 4

W N =

Faad AR D
Fad B3R C
Fad €A D
Faoa AR C

Answer Given by Candidate : A

Sl. No.79

QBID:1044054




Which of the following statements is true of sampling?

A, It is done for surveys.

B. It 1s required for audience studies.

C. It is helpful in science experiments only.

D. It does not produce effective results in social sciences.

Choose the correct answer from the options given below :

(1) Only B and C
(2) Only A and B
(3) Only Cand D
(4) Only A and D

(A) 1

(B) 2

(c) 3

(D) 4

AR Adsm oA vRTmma FaR dad ¢ 2
ag aderor & fow fFar smar €

UE RS HCTTA & AT HEeTF ¢ |

g Fad A= & gAet & g g

D. ag @At @A & g aftoms gt ear &
g e v fawedt # @ @ér 39T &1 994 fifSw

(1 Faa B3R C

2 Faa AT B

3) Faa c3R D

4) Faor AR D

(a)
(B)
(©)

(D) 4
Answer Given by Candidate : B

N B p

W N =

Sl. No.80
QBID:1044055

Match List I with List IT ;

List I List IT
A Twitter L Programming
B. Instagram II.  Social Media
C. Amazon III.  E-comumerce
D.  Python IV. Picture sharing

Choose the correct answer from the options given below :

(1) ATV, B-IIL C-II. D-1
(2) A-T B-II. CIII. D-IV
(3) A-TL B-IV, CIL. D-1
(4) A-TII, B-II. C-1. D-IV
(A) 1
(B) 2

(©) 3




(D) 4

g 1% @y g 1 F Fee fifse

T 1 SAIRY
A EEE I SEEe
B. SEEENMH . Trerer #Hifzar
Cc. IS M. EFAY
D. 9IUd v. = gEm wEr
A T 77 Teeeat # ¥ "Er 3caT F1 9349 S
(1) A-IV, B-III, C-II, D-1
(2) A1 B-H,C-I0, DIV
(3) A-TL. B-TV. C_IIL. D1
(4) A-TIL, B-TL, C-1, D-IV
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.81

QBID:1044056

Mateh List T with List IT ;

List I List IT

A.  Virtual Reality I.  Connected Appliances
B.  Internet of Things 1. Second Life
C.  Artificial Intelligence ITI. Pokemon GO
D.  Augmented Reality V. Alexa
Choose the correct answer from the options given below :
(1) A-1 B-II. C-III. D-1IV
(2) A-TI. B-1. C-IV, D-III
(3) A-TIT. B-IV, C-1. D-II
(4) A—IV, B—IIL CII, D-I

(A) 1

(B) 2

(c) 3

(D) 4




T 19 w1y g 0 e i

T T u

A. 3THTET arEafashar (VR) I o8 39T
B. Eﬁam’r FT TS (loT) 1L @ Sitaer
C.30EH g5fa (A L. 9l
D. Haf8d aFafaeshdr (AR) V. TererdT
AT fer v [aredt & @ @8 300 & 994 ffew -

(1) A1, B-II, C-IIL, D-IV

(2) A-IL B-I, C-IV, DI

(3) A-IIL B-IV,C-1 D-1II

(4) A1V, B-II, C-1L, D-1
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.82
QBID:1044057

Matech List I with List I ;

A
B.
C.

D.

List I List IT

Web 1-0 I Community collaboration

Web 2-0 TI. Persomalised searches and records previous searches
Web 3-0 II1. Read only web

Wik IV. Interact and collaborate

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)
(B)
(<)
(D)

A W N =

A-1 B C-IV. D11
A-1. B-1II. C-I1I1. DIV
A-IV. B-1. CII. D-I1I
A-TIIL B-1IV. C-II. D-1




g 1% "y &=l nF Aee i

1 = I
A3g 10 L merfas wgHeT
B. 35 2.0 L nfaasa @ 3R Rod @St & R &
3
C.33 30 L Fger d9 o
D. farehr V. oreqe-frar 3t wgar
A faw arw fashedt & & | 39 & =4 RS
(1) A-1, B-1I1, C-IV, D11
) A-1, B-1I, C-III, D-TV
(3) A-IV,B-1, C-I1I, D-11I
(4) A-IIL, B-1V, C-1I, D-1
(A) 1
(B) 2
(Cc) 3
(D) 4

Answer Given by Candidate : D

Sl. No.83
QBID:1044058

Match List T wath List IT :

List I List 11

A Netfhx L Sundar Picha
B. Amazon I1. Mark Zuckerberg
& Facebook II.  Jeff Bezos
D. Google IV.  Reed Hastings
Choose the correct answer from the options given below :

(N A-IL, B-1, C-1V, D-III

(2) A-IIL B-II, C-1, DIV

3) A1V, B-II1, C-1I1I, DI

(4) A1, B-IV, CI1, D11
(A) 1
(B) 2
(c) 3
(D) 4
gt 1% Ay g 11 He HfSe

T T I

A. AefFasa I ex g
B. HASATT 1L A& FhIad
& hagH 111 % g
D. T Iv. iz ¢ew

A BT v Aeal # & "8 3 F g9 fifFv

(1) A-IIL, B-1, C-IV, D-III
(2) A-IIL B-I1, C-1, D-IV
(3) A-IV, B-IIL C-11, D-1

(4) A-1 B-1V, C-11, D11




(A) 1
(B) 2
©) 3
(D) 4

Answer Given by Candidate : C

Sl. No.84

QBID:1044059
Match List T with List II :

List II
P&G
ITC
Tata

Unilever

List 1
A Lifebuoy I
B. Pantene I1.
3 Aashirvaad 1L
D. Tetley Iv.
Choose the correct answer from the options given below :
(1) A-IV, B-1, C-II, D111
2) A-IIL B-IL, C-1, DIV
(3) A-IL B-1IL, C-IV, D-1
4) A-1, B-IV, CII, D-11
(A) 1
(B) 2
c) 3
(D) 4

=T 1% |y g= 1 e fifew

A
B.
C

D.

g 1
AEHATT
FéeT
smefiate
Cra|

L
IL
I1I.
V.

L1
dr gz S
g e
e

L \GEICEY

Jr g 717 Aeat # ¥ WEr 3ca7 1 734 fifFw

(1)
(2)
(3)
(4)
(A) 1
(B) 2
(c) 3
(D) 4

A-IV, B-1. C-II. D-111
AT B-IIL C-1. DIV
A-TIL B-III. C-IV. D1
A-1 B-IV. CIII. D11

Answer Given by Candidate : C

Sl. No.85

QBID:1044060




Match List T with List IT :

List I List I1
A Tata L. E-Verto
B. Mahindra I1. Kona Electric
C. Hyundai II. Nexon EV
D Jaguar IV. I-Pace
Choose the correct answer from the options given below :
(1) A-IIL, B-1, C-II, D-IV
(2) A-IL B-III, C-1, D-IV
(3) AL B-1V, C-II1, D-1I
4) A-IV, B-II, C-IIL, D1
(A) 1
(B) 2
(©) 3
(D) 4
=T 19 | & 1F fFee fifae
T 1 SALR
A zTeT L -afer
B. Afgar II. FIAT SoITeh
C §3‘§ IIL ¥ §t

D. EEEIR IV. HE-gg
A feT ar et #§ ¥ TEr 3ca T 9949 FifSAT

(1) A-TIT, B-1, C-11, DIV
(2) A-IL B II, C-I D-IV
(3) A-1, B-IV, CIII, D11
(4) ATV, B-II. C—III, D1

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : A

Sl. No.86

QBID:1044061

In which chronological order did the following natural calamities happen in the recent
years 7

A Cyclone Yaas

B. Amazon Rainforest Fire

C. Tamil Nadu Floods

B; Cyclone Amphan

Choose the correct answer from the options given below :
(1) A.C.B.D

) B, D, C.A

(3) C.B.D. A

4) D,A,C,B




(A) 1
(B) 2
©) 3
(D) 4

g & ast & frafafla sefas e e #engsias a0 # afed
B

A Tehdld ITH

B. AT aiaer & 31T
C.  affeerg e

D. Tehdld HERI

A BT aiv Aweut & & @8 39 &1 9aa fifw
(1) A.C,B,D

(2) B,D,AC

(3) C,B,D,A

(4) D, A C,B

(A) 1

(B) 2

() 3

(D) 4

Answer Given by Candidate : C

Sl. No.87
QBID:1044062

Explain the process of media production in its correct sequence :

A Seripting
B. Production
G Ideation
D. Editing
Choose the correct answer from the options given below :
(1) C,ABD
2) B.C.D.A
3) D, B0 A
(4) A.B.C.D
(A) 1
(B) 2
(c) 3
(D) 4




Hifzar 3o FT 9fFar F e FH7 FH g
A F=aix)]

B. ErSICT
c. IEEIEs
D guE=
AT fT 1T Beut # ¥ WEr 3ca7 FT 994 FfSvw
(1) C.A.B.D
(2) B.C.D. A
(3) D.B.C, A
(4) A.B.C.D
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.88

QBID:1044063

Indicate the chronological order of evolution of newspapers :
A, Broadsheet

B. Corantos
C. E-Papers
D. Diurnals

Choose the correct answer from the options given below :
(1) ABCD
2) D,C,B A
(3) B.D.A,C
4 C.B,D,A
(R)
(B)
(©)
(D)

FAMR T3 F [FFH F Folghias A H sEdT H
A a‘hﬁﬂw

A W N =

B. FRIEH
C. S-FAER 97
D. AT
#r fer 71v Aear # ¥ ®Er 3ca? 1 T34 fifFv
(1) A BCD
(2) D.C.B.A
(3) B. DA€
(4) ol = 4 0
(A) 1
(B) 2

() 3




(D) 4
Answer Given by Candidate : C

Sl. No.89
QBID:1044064

Identify the correct chronological sequencing of the following ages of human
civihization :

A Industrial Age
B. Iron Age
C. Information Age
D. Stone Age
Choose the correct answer from the options given below :
(1) A B.C,D
(2) D.C,B, A
3 DB, AC
(4) C,B,A,D
(A) 1
(B) 2
(©) 3
(D) 4
HTd T & Tl oM I FIefshiar IFTHA0T T Teai HITT
A. e a1
B. citg gar
C. =T g
D. qTSTOT 3T
a few e ﬁ':’awq‘r # ¥ 98 3 F 9349 Fifw
() A B C,D
(2) D.C,B. A
(3) DB, AC
(4) C,B,AD
(A) 1
(B) 2
©) 3
(D) 4
Answer Given by Candidate : C
Sl. No.90

QBID:1044065

Arrange the variants of COVID-19 virus in the sequence of the way they affected the
world.

A Delta

B. Beta

= Alpha

D. Omicron

Choose the correct answer from the options given below :
(1) C,B,AD
(2) B,D,C, A
(3) A B.C.D
(4) C.D,A,B

(A) 1

(B) 2




) 3

(D) 4

COVID-19 & arTH ¥ YR &I 30 F7 7 cxafeyg Hife, &w adF @
381 gferar &1 wenfaa R

A Sl
B drer
C BT
D Uﬁ S
a7 T av Fwedt & & 38 39 #1939 S
(1) C,B,A,D
2) B,D,C, A
(3) A,B,C,D
(4) C,D,A,B
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.91

QBID:1044066

Trace the evolutionary sequence of new media :

A Web 1-0
B. SNS
C. ARPANET
D. Connectivity for network economy
Choose the correct answer from the options given below :
(1) A, CBD
2) C,D.A,B
3) B.C,A,D
4) D,C,B A
(A) 1
(B) 2
(©) 3
(D) 4
=g AT & AT HgHA FT Ia1 e
Al AT 10
B. THIATH

C. HYTSE (ARPANET)
D. JTT% AT ¥ v FafEeRE
= fGT 71T et & F TWET 3ca] & I HITAT ¢

(1) A.C.B,D

(2) C.D.A,B

(3) B.C.A,D

(4) D.C.B. A
(A) 1

(B) 2




() 3
(D) 4
Answer Given by Candidate : A

Sl. No.92
QBID:1044067

Identify the steps given below n correct sequence for designing a development campaign :

A Strategising
B. Situation Analysis
C. Implementation
D. Identifying Objectives
Choose the correct answer from the options given below :
(1) A, B.DC
(2) B,A.C,D
(3) B,D,A,C
(4) D.C,A, B
(A) 1
(B) 2
(©) 3
(D) 4

v @ T 3f@am & s IR 7= F e 9 e oo oo
F @Y & f ggaa Hifvw

A orEfa
B feufa faeowor
C. FeadsT
D 3ecdt @ agar
A v arv et & & FE 3¢ &1 9Ia fifFw
(1 A,B,D,C
2) B,A,C,D
(3) B,D,A,C
(4) D,C,A,B
(A) 1
(B) 2
(C) 3
(D) 4

Answer Given by Candidate : C

Sl. No.93
QBID:1044068

Arrange the following Indian states from North to South :

A Telangana

B. Jharkhand

C. Andhra Pradesh

D. Chhattisgarh

Choose the correct answer from the options given below :
(1) A, B, D,C
2) B,.D.A,C
(3) B.D.C,A
4) C,D.A,B

(A) 1

(B) 2




(©) 3

(D) 4
F=fafEa srda osat 1 33 & o aF cgatea fifew .
e T
B.  gnws
C. 3TeT weer
D o
a9 Be air [eeat & & @8 301 &1 9949 fifFw
(1) A,B,D,C
(2) B,D,A,C
(3) B.D.C, A
(4) C,D,A, B
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : B
Sl. No.94

QBID:1044069

Given below are two statements : one is labelled as Assertion 4 and the other 1s
labelled as Reason R.

Assertion A :

The BBC website carried a report from the Global Witness according to which 227
environmental activists were killed in 2020 for protecting natural resources.

Reason R :

It is important to put people and planet before profit. or climate breakdown and
killings would continue.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation A
(3) A ic true but R is false
(4) A 1s false but R 1s true

(A) 1

(B) 2

(c) 3

(D) 4




At Fua Ru aw € vy 4% w9 & i@ § a @

3H% FRUTRF T HE |

HIFFUT A -

et Fr JFEEe F ARTF TR Hr ve o e f TEF waer
2020 F UTpTas AT FT 78T F BT 227 THTEI0r FREAFAEAT F g =
s |

FRUTR :

Tt 3T g2l A F UL WA Hgecd Ul g HeTAT FeEr] @IEr Y
geaTt AR A |

IFT FUT F WEF H AT U v FFeat # § @Er 33T F+ TU

(1) A #HR REEr @7 § #R R A Fr TEr e #

() A R REET T & A R A FT T e J8 §
(3) AT EaFa RIET £

(4) ANTT £ AT RET &

(A)
(B)
©)
(D) 4
Answer Given by Candidate : A

W N =

Sl. No.95
QBID:1044070

Given below are two statements : one is labelled as 4ssertion 4 and the other is
labelled as Reason R.

Assertion 4 :

According to the World Bank and the UN, an Internet user is anyone who has gone
online at least once in the past three months.

Reason R :

Days of easy growth are gone for successful Internet compaines and they need to be
mnovative in their ideas of reaching the unconnected billions.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation A
(3) A is true but R 1s false
(4) A 1s false but R 1s true

(A) 1

(B) 2

(©) 3

(D) 4




A & FUer U a0 § U HFFYT 4% w9 A fAf@a ¢ ar gEw

IAF FRTRFTTHE |

HIBFYT A -

e 3% 3R §gFa T¢ & HGAR, U SeHeAe 3TN 9 ¢ S Ao
e 78T # FH-9-F8 Us IR AHiaonsd 4w g |

FROTR :

Hhel Sclaie Hafaal & v 3mae [{em & B og 7w § 3k 3%
ey IS AT T qgae & 39 faERt A A @ Fr aeEhar § |
IqFT FUA & Al H, A1d Be v [Feat & & @ 397 &1 997

(1 A3 R Bem € 3R R A Fr 6t s €

(2) A 3R R & weg € A R, A fr @ sarear a8 &
(3) AT g, afehed R3ITT &

) A T B, T RET &

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.96
QBID:1044071

Given below are two statements : one 15 labelled as Assertion A and the other 15
labelled as Reason R.

Assertion 4 :

Media literacy is needed for enlightened individuals and healthy democracy.

Reason R :

Media influences individuals greatly.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation A
(3) A 1s true but R 1s false
(4) A 15 false but R 1s true

(A) 1

(B) 2

(c) 3

(D) 4




A o FUa RU A0 ¥ v HAFYT AF w9 A Af@a § O g}
IHF FRTRE TTAE |

IHHFIT A -

et st 3R Fey diedT & faw Afzar aerar s g
FRUTR :

#fSar cafeaar F aga AT H § |

INFT HUA & Hald A, 0 QU 10 RFedt & & ¥ 3a¢ & 997

(1 A 3R REAT wcg & 3R R A w7 sarewr &

(2) AR R TeT £ afFa R A $r 1) carear A9 &

(3) AET &, ot R3EcT ¥

4 ANET &, AfFT RET &

(A) 1
(B) 2
(C) 3

(D) 4
Answer Given by Candidate : A

Sl. No.97
QBID:1044072

Given below are two statements : one 1s labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A :
According to Denis McQuail, “Communication 1s a process which increases
commonality but also requires elements of commonality for it to occur at all.”

Reason R :

You must communicate, because only human beings have the ability to use language

for communication.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is not the correct explanation A
(3) A is true but R is false
(4) A 1s false but R 1s true

(A)
(B)
(©)
(D)

A W N =




A & sy o aw € ¢ vw Af@Fve 4% w0 A f@a ¢ a gEw

SR FRNTRF TTHE |

HIBFUT A -

ST Aol & HAUR, “FUR vh O wfhar § S @A i derdr ¢
dfFa ary & suF ufed 8 ¥ v gA=ar & deat 1 o amaegsar g
g

FIUT R :

U FUR T AIfeT Fieh Shaed Hdsd Afd & 91 F9R & fav s
FT ITAT F T AT R |

IqFT FUA & ATl H, 719 BU 710 BFedl 7 & @ 3a¢ &1 99T

(1 AR R Tcm & 3R R AR @l e §

2 AR R w7 E ofFa R, A T smrea 79 8
(3) ATT ¢ dfFT R3\cT &

(4) AT B oAfRT RET £

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.98
QBID:1044073

1s a plan or proposal to conduct research

(1) Research experiment
(2) Research design
(3) Research Ethics
(4) Research Philosophy
(A) 1
(B) 2
) 3
(D) 4

.................. FEHU F fasaes g a1 gwaE g

(1) FTHUT qIeT
(2) HeTHTT HTFFT
(3) SgEY Afashar
(4) HTEUA T

(A) 1

(B) 2

(C) 3

(D) 4

Answer Given by Candidate : B




Sl. No.99
QBID:1044074

Given below are two statements : one 1s labelled as Assertion 4 and the other 15
labelled as Reason R.

Assertion 4 :

Inclusion is not an answer to issues of governance, development policy and
development planning for women and marginalised sections of the society.

Reason R :

Development 1ssues should be tackled m ways that can help the poor live a life of
dignity and have equal opportunities.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation A
(3 A 1s true but R 1s false
(4) A 1s false but R 1s true

(A) 1

(B) 2

©) 3

(D) 4

A=) & wua QU aw € vw wf@Fye 4% w9 A AfEa ® @ gEw
SHF FRTRF TT AR |

HERFYT A :

gAY Afgensit 3R FAS & @fRe & gt & v e, Tem AifT it
fawre Aee & Aeel F S AL ¢

HNIT R :

@ & Aeel A1 38 ae A gl har S wrfge & adiet w @wAre
Shtaet St # #Agg e ¥% 3 3¢ ¥AeT Haat fAer |

IRFT FUA & HelF A, A0 BT 10 AFeur 7 & ¥ 3698 & 997
Fifaw -

(1) A 3R R wem € 3R R, A Fr @ crer €

() AR REE W €, et R, A Fr TEr @ 78§

(3) AT ¢, AfheT R3WET &

(4) AT & T RET £

(a)
(8)
(©)

(D) 4
Answer Given by Candidate : A

W N =

Sl. No.100
QBID:1044075




Give below are two statements :

Statement [ :

Information is power that rests with those who can access it and those who have the
skills to use it.

Statement I :

Convergence, or merging of technologies for a better output has led to bridging the
gap between digital haves and have-nots.

In the light of the above statements, choose the correct answer from the options given
below :

() Both statement I and statement II are true
(2) Both statement I and statement I are false
3 Statement I 1s true but statement [T 1s false
(4) Statement I 1s false but statement 11 15 true

(A) 1

(B) 2

(©) 3

(D) 4

A gt Fua er AT

FeA I :

T ofSd & S 39 A6l F 9 § S 3 A BT T 8. 3R Faw
I SHHT FTAET Flad FT RS & |

FYA I -

IgA 3cIeA ¥ Tov diemifafrar F @ o e o e =
3T “FgArew F 9T F @S F e H A F{ET

IRFT FUA F HeF H AT v av et & § @8 30w F7 99

(1) FUAT 13T USAT T &

(2) FUA 13T AT 38T &

(3) FUT 1T £ ATFT FAT I 37TT &
(4) FUT 17T & ofFd FI7 1T &
(A) 1

(B) 2

) 3

(D) 4

Answer Given by Candidate : A




